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Q.1 Which answer figure will complete the pattern in the question figure?

y -
I
AN\

X y
\

X2 \

Y &) \
\

SN
N\

Question ID : 97675511956 ]



https://t.me/DSSSBTEACHER1
https://t.me/DSSSBTEACHERS1
User
Stamp

User
Stamp


valking in the south direction and walks a distance of 7 meters. Now he took a
valk 6m. Again he takes a left turn and walks 15m and reached a point P. In
n is Rahul from the initial point?

h-East
h-East
h-West

h-West

Question ID : 97675511954

ption that is to unrelated (or odd one out amongst) the given set of words.

2r

er

Question ID : 97675511941

angles are there in the given figure?

Question ID : 97675511957
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iagram that best represents the relationship among the given classes.

en

DY

Q)
®

Question ID : 97675511952

tion in which the words share the same relationship as that shared by the given

atment

e : Work
Bricks
t: lawyer

ige : Job

Question ID : 97675511942

n responses, find the missing term in the series.

X,G15W,?

~

us

[ Question ID : 97675511939
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1g question, select the related letter cluster from the given alternatives.
::ACZ0:?

v

Question ID : 97675511943

ing number in the series given below.

Question ID : 97675511951

n responses, find the missing letter cluster in the series.

2, NLJI, JHFE
=}

0
N
M

Question ID : 97675511940

»de language, 'MAPED' is coded as '64' and 'RECK' is coded as '41'. How will
led as in that language?

Question ID : 97675511944
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n below are given two statements followed by two conclusion. You have to
jiven statements to be true even if they seem to be at variance with the
own facts and then decide which of the given conclusions logically follows
given statements, disregarding commonly known facts.

res.
are tyres.

are clutchs.
*hs are cars.

ly conclusion Il follows
her conclusion | or Il follows
ly conclusion | follows

ither conclusion | nor Il follows

Question ID : 97675511948

e photograph, Mamta said that the woman in this photo is the wife of the son
:wife's only daughter. How is the Mamta related to that woman?

er
er-in-law

'r

l Question ID : 97675511946

10re than Rahul. Yamuna scored as much as Divya. Lokita scored less than
scored more than Yamuna. Manju scored less than Divya. Who scored the

ju
a
1l

una

Question ID : 97675511945

n given, relations between different elements are shown in the statements.
ients are followed by two conclusions. Find out which of the given conclusions
given statements and select the correct alternative from the given choices.

P<Q=R=S=zL

Il'is true

wrlarllic triia
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jns should be interchanged to make the given equation correct?

Question ID : 97675511950

r image of the following figure.

1) (D (1_]) %

o
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Question ID : 97675511958
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iagram that best represents the relationship among the given classes.

ronavirus, Diabetes

Y0

U

O
O

Question ID : 97675511953

ire given in the following question. All figures have something in common
ind the odd figure out.
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I

ERZ
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n below, there are two statements followed by four conclusions given in
1ave to take the given statements to be true even if they seem to be at
commonly known facts and then decide which of the given conclusion
w(s) from the given statements.

5 are diamonds.
are crystals.

iamonds are emeralds
e emeralds are diamonds
e crystals are emeralds

‘ystals are emeralds

Question ID : 97675511947

/vareness

e first initiative of Mahatma Gandhi as a nationalist in India?

la
andar
edabad

nparan

Question ID : 97675511968

following is the largest District in India as per area?

bai
e
jalore

ichh

Question ID : 97675511966

e following years was the Indian Policy Resolution adopted by the Parliament?

Question ID : 97675511963
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following individuals composed the National Song "Vande Mataram"?

ajendra Prasad
ndranath Tagore
Mangeshkar

imchandra Chatterjee

Question ID : 97675511959

int Nyiragongo volcano has erupted. In which of the following countries is it

plefele)
agascar
ocratic Republic of Congo

ria

Question ID : 97675511978

following commission was appointed by the Central Government on Union-
sin 1983?

Ivad Commission
lkar Commission
Commission

aria Commission

Question ID : 97675511971

st ever Indian recipient of a Nobel Prize?

ndranath Tagore
‘aman
rtya Sen

1er Teresa

Question ID : 97675511974

following individuals is the author of the book "Anandamath"?

imchandra Chatterji
ajendra Prasad
shi Premchand

ndranath Tagore

Question ID : 97675511973
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ding capacity is the highest in which of the following soils?
k Soil

Soil
2y Soil

soil

Question ID : 97675511967

of India was built to commemorate the visit of which of the following Kings?

George V
William IV
Edward VI

George |

Question ID : 97675511961

following mahajanapadas was Vaishali the capital of?

iti

adha

:hala

Question ID : 97675511970

he following laid the foundation of Golden Temple?

Arjan Sahib
at Mian Mir ji
Amardas Sahib

Ramdas Sahib

Question ID : 97675511960

following refrective defects of vision is also known as Far-sightedness?
dia

rrmetropia

byopia

ract

Question ID : 97675511964
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ad won the first Cricket World Cup in the year 1975?

stan
ralia

t Indies

Question ID : 97675511975

following organizations developed the COVID-19 vaccine Covishield?

erna
n Medical Association
at Biotech

m Institute of India

Question ID : 97675511977

sientific Name of National Bird of India?

ock
. Cokoo
1 Cristatus

hera Tigris

Question ID : 97675511965

ite the process for the removal of the Vice-President of India?

ident
se of People
1cil of Ministers

1cil of States

Question ID : 97675511972

judge who presided over Mahatma Gandhi's hearing during the Non-
viovement in the year 1922?

ice James Dewar
ice William McDonell
ice CN Broomfield

ice Henry Davison

Question ID : 97675511969



https://t.me/DSSSBTEACHERS1

following Tennis player won the ATP Rome 2021 (Paris Open)?

ik Djokovic
el Nadal
 Murray

r Federar

Question ID : 97675511976

-Officio Chairperson of the NITI Aayog?

President
e Minister
e Minister

ident

Question ID : 97675511962

Ability

st fraction of the following fractions.

Question ID : 97675511983

10se edge is 8 cm are joined together to form a single cuboid. What is the
new cuboid so formed?

50 cm?

50 cm?

1 cm?

50 ¢cm?

Question ID : 97675511994
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|ht 2 items at the same price. He sold one item at 20 percent profit and another
‘cent profit. What is the overall percentage profit he made?

iercent
percent
percent

percent

Question ID : 97675511987

=243 and 54-» = 5, then find the value of (pxq)?

Question ID : 97675511981

owing table carefully to answer the given question.

1ployees in different departments of five organisations

anisation —

)yartment | A B € D r
HR 145 | 80 | 120 | 180 | 160
Finance 120 75 | 100 | 220 |g40
larketing 150 90 immbl 50 96
IT 225 | 1104608 280 |[220
ninistration T80 120 T 180 T T T 1sv

tio between the number of employees from Finance and Marketing
together of organization B and these two departments together of

D respectively?

3
1

3

Question ID : 97675511996
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1e in the place of question mark (?) in the given expression?

x35+452—155=7

Question ID : 97675511979

hes his college in 2 hours by his bike at an average speed of 30 km/hr, then
)e his average speed by his car to reach the college half an hour earlier?

n/hr
n/h
n/hr

n/hr

Question ID : 97675511992

1 shirt is decreased by 25 percent and hence the sale is increased by 20
will be the effect on the total revenue of the shop?

arcent decrease
arcent increase
‘cent increase

ffect

Question ID : 97675511986

3600 is divided into two principals. One principal is invested at 8 percent p.a.
d the other is invested at 9 percent p.a. for 3 years. If the total simple interest
5. 741, then find the larger principal.

100
‘400
800

500

Question ID : 97675511990
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bar graph shows the sales (in Rs. crore) of six companies in 2012-13.

66.6
55.8

i I )

P Q R S

H Company

86.3

fo.4

mate percentage of the total sales of the given six companies together was the
iy T?

arcent
percent
percent

5 percent

Question ID : 97675511998

ill come in place of question mark (?) in the following question?

V27— {343 =7

Question ID : 97675511980

iy numbers is 33. If average of first 15 numbers is 28 and average of last 25
5, then what is the average of remaining five numbers?

Question ID : 97675511984
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umbers is 3 times their HCF. The sum of the LCM and the HCF is 44. If one
then the other number is:

Question ID : 97675511982

owing table carefully to answer the given question.

1ployees in different departments of five organisations

anisation —

yartment | A B c B E

HR 145 | 80 | 120 | 180 | 160
Finance 12| 75 | 100 | 220 | 140
Tarketing 130 | 90 | 115 | 200 | 190

IT 225 | 110 | 160 | 280 | 220

ninistration 180 | 120 | 130 | 110 | 130

1ployees in IT department of organization C is what per cent of the total
iployees in organization C in all the departments together?

Question ID : 97675511997

ours to type 24 pages. Neelam takes 9 hours to type 45 pages. In how many
Il type 351 pages together?

ours
ours
ours

ours

Question ID : 97675511993

peed of boat in upstream to speed of boat in downstream is 2: 3. The time
to cover 45 km in downstream is t hours, then in t hours how many kilometers
ed by boat in upstream?

mn

n
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took the examination in a school, and 13 percent of the students got
he number of boys who got distinction is 2 more than the number of girls who
n. If 20 percent of the girls got distinction, find the total number of boys in the

Question ID : 97675511985

ains tin, copper and zinc in the ratio of 4:6:5. Find the quantity of copper to be
kg of this alloy to form a new alloy in which the ratio of the above elements in
aris 4:4:5?

Question ID : 97675511989

he diagonal of a kite is 16 cm and its area is 96 cm?Z, what is the length of the
Il of the kite?

mn

mn

Question ID : 97675511995

2 three partners in a business who shared profit in the ratio of 2:5:3. If they had
i months, 6 months and 9 months respectively, what is the ratio of their

Question ID : 97675511988

glish
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ist appropriate meaning of the given idiom/ phrase.
usic

2 offered warm hospitality

2 greeted rudely

1joy @ music programme

2ar the consequences

Question ID : 97675512012

rd which means the same as the group of words given.
that combines media of communication:

itasking

imillionaire

iple

imedia

Question ID : 97675512013

angly spelt word.

met
deur
aful

antee

Question ID : 97675512010

1g question, four sentences are given out of which three sentences are
y incorrect while one is correct. Find out which sentence is grammatically
zlect the appropriate option.

gation on this portal should be such that the complete law-making chain, right
nt act to the subordinate legislations, is clearly visible.

entral Acts and subordinate legislations passed by the Centre, include rules,
nd circulars, should be made available on this portal.

Jata uploaded on the portal should available in machine readable PDF formats.

osortal should allow uploaded of state government Acts, regulations and
:gislations as well.

Question ID : 97675511999

'st appropriate antonym of the given word.
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ist appropriate option to substitute the underlined segment in the given
aere is no need to substitute it, select 'No substitution required'.

-ends in agricultural production, fish harvest, bio-energy production and
iterials have increased, in response to populational growth, rising demand and

svelopment.

Ilation growth, rising demand and technological development.

ubstitution required.
Ilated growth, rising demand and technological development.

Ilation growing, rising demand and technological development.

Question ID : 97675512002

: following sentences in their correct order to form a meaningful paragraph.

o many reasons to include veggies into your diet.

ries, nutrient-dense, versatile and tasty.

se the term healthy, vegetable is the first word that comes to our mind.

' plate with healthy and nutritious food items is an effective way to lose weight.
S

o]

[ Question ID : 97675512005

'st appropriate synonym of the given word.
'E
air

‘nce

Isity

Question ID : 97675512007

'st appropriate option to fill in the blank.

[l aware that to hygiene, we have to keep ourselves and our
clean.

erve
w
itain

ire

Question ID : 97675512004
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'st appropriate meaning of the given idiom/ phrase.

finger

gs always get worse before they get better
xperience unpleasant consequences
llent health

1od condition espc. Getting a lot of money

Question ID : 97675512011

'st appropriate option to fill in the blank.

damp grass, breaking a leg, cracking a bone in the other and hurting

Question ID : 97675512003

2 following sentences in their correct order to form a meaningful paragraph.
iment of Maharashtra has come up with guidelines for organising of Ganesh

rs need to have more than 20 people, then they need to take permission from
‘ict Collector.

n time, no more than 20 people will be allowed to gather in the sanctum within
iere the Ganesh idol is kept for worshipping.

t Collector will then verify the size of the pandal and will give permission if
social distancing will be maintained with 20 plus people.

2
S
S

R

Question ID : 97675512006

agment in the sentence which contains the grammatical error from the given

e the examination faster and answered one more question he would have

had wrote the examination faster
answered one more question
ould have scored better

rror
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‘rectly spelt word

nner
runner
runner

runner

Question ID : 97675512009

'st appropriate option to substitute the underlined segment in the given
nere is no need to substitute it, select 'No substitution required'.

‘om the two events will be counted for "ranking of competing nations" at the
3ames, the CGF said on Monday.

e count
ubstitution required
ount

bunted

Question ID : 97675512001

on:
wing passage and answer the questions below.

»f Rome, Marullus and Flavius, break up a gathering of citizens who want to

s Caesar's triumphant return from war. The victory is marked by public games
ar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
who warns him that he should 'Beware the Ides [15th] of March.

rs, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
1olds in the Republic. They fear he will accept offers to-become Emperor. He
ing a lot of power recently and people treat him like a god. Cassius, a

neral himself, is jealous of Caesar. Brutus has a more balanced view of the
on. The conspirator Casca enters and tells Brutus of a ceremony held by the
3y offered Caesar a crown three times, and he refused it every time. But the
ire still wary of his aspirations.

1, and their allies plant false documents to manipulate Brutus to join their cause
3sar. After doing so, they visit Brutus at night in his home to persuade him of
1ere they plan Caesar's death. Brutus is troubled but refuses to confide in his
Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
isionary dreams and fears the portents of the overnight storms.

artheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed

dirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:

No:16
onspirators plant false documents?

anipulate Portia to join their cause to remove Brutus
anipulate Cassius to join their cause to remove Brutus
anipulate Caesar to join their cause to remove Brutus

anipulate Brutus to join their cause to remove Caesar
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on:
wing passage and answer the questions below.

»f Rome, Marullus and Flavius, break up a gathering of citizens who want to

s Caesar's triumphant return from war. The victory is marked by public games
ar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
who warns him that he should 'Beware the Ides [15th] of March.

rs, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
1olds in the Republic. They fear he will accept offers to become Emperor. He
ing a lot of power recently and people treat him like a god. Cassius, a

neral himself, is jealous of Caesar. Brutus has a more balanced view of the
on. The conspirator Casca enters and tells Brutus of a ceremony held by the
2y offered Caesar a crown three times, and he refused it every time. But the
ire still wary of his aspirations.

1, and their allies plant false documents to manipulate Brutus to join their cause
3sar. After doing so, they visit Brutus at night in his home to persuade him of
1ere they plan Caesar's death. Brutus is troubled but refuses to confide in his
Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
isionary dreams and fears the portents of the overnight storms.

artheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed

sirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:

No:17

the given passage, Portia has been portrayed as-
1s" wife

ius’ daughter

a's mother

Jrnia’s sister

Question ID

197675512017
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on:
wing passage and answer the questions below.

»f Rome, Marullus and Flavius, break up a gathering of citizens who want to

s Caesar's triumphant return from war. The victory is marked by public games
ar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
who warns him that he should 'Beware the Ides [15th] of March.

rs, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
10lds in the Republic. They fear he will accept offers to become Emperor. He
ing a lot of power recently and people treat him like a god. Cassius, a

neral himself, is jealous of Caesar. Brutus has a more balanced view of the
on. The conspirator Casca enters and tells Brutus of a ceremony held by the
2y offered Caesar a crown three times, and he refused it every time. But the
ire still wary of his aspirations.

1, and their allies plant false documents to manipulate Brutus to join their cause
3sar. After doing so, they visit Brutus at night in his home to persuade him of
1ere they plan Caesar's death. Brutus is troubled but refuses to confide in his
Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
isionary dreams and fears the portents of the overnight storms.

artheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed

dirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:

No:18

iis line “He has been gaining a lot of power recently and people treat him like a
iccording to the given passage:

s Caesar
5 Cassius
Jrnia

:us Brutus

Question ID : 97675512015
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on:

wing passage and answer the questions below.

»f Rome, Marullus and Flavius, break up a gathering of citizens who want to

s Caesar's triumphant return from war. The victory is marked by public games
ar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
who warns him that he should 'Beware the Ides [15th] of March.

rs, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
10lds in the Republic. They fear he will accept offers to become Emperor. He
ing a lot of power recently and people treat him like a god. Cassius, a

neral himself, is jealous of Caesar. Brutus has a more balanced view of the
on. The conspirator Casca enters and tells Brutus of a ceremony held by the
2y offered Caesar a crown three times, and he refused it every time. But the
ire still wary of his aspirations.

1, and their allies plant false documents to manipulate Brutus to join their cause
3sar. After doing so, they visit Brutus at night in his home to persuade him of
1ere they plan Caesar's death. Brutus is troubled but refuses to confide in his
Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
isionary dreams and fears the portents of the overnight storms.

artheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed

sirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:

No:19
‘ollowing statements is incorrect according to the given passage?

ar is nevertheless persuaded by flattery to go to the Capitol.
offered Caesar a crown three times, and he refused it every time.
ar utters the famous phrase: Et tu, Brute?

e Capitol,Cassius is stabbed by each conspirator inturn

Question ID

197675512019
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on:
wing passage and answer the questions below.

»f Rome, Marullus and Flavius, break up a gathering of citizens who want to

s Caesar's triumphant return from war. The victory is marked by public games
ar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
who warns him that he should 'Beware the Ides [15th] of March.

rs, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
10lds in the Republic. They fear he will accept offers to become Emperor. He
ing a lot of power recently and people treat him like a god. Cassius, a

neral himself, is jealous of Caesar. Brutus has a more balanced view of the
on. The conspirator Casca enters and tells Brutus of a ceremony held by the
2y offered Caesar a crown three times, and he refused it every time. But the
ire still wary of his aspirations.

1, and their allies plant false documents to manipulate Brutus to join their cause
3sar. After doing so, they visit Brutus at night in his home to persuade him of
1ere they plan Caesar's death. Brutus is troubled but refuses to confide in his
Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
isionary dreams and fears the portents of the overnight storms.

artheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed

sirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:

No: 20

ar's wife, Calpurnia, urge him not to go to the Senate?

use she was told to do so by the two senators Brutus and Cassius
use an stranger told her to be killed by some senators
use she was not much concerned about Caesar’s prestige

use she had a visionary dream of something bad tohappen

Question ID : 97675512016

ndi
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Question ID : 97675512034
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13 fAQ Ueh 2reg ot 9o HifSg-

™ & gER U WR T & ST ST Heh-
frer

Question ID : 97675512027

g a5 205, &1 99+ FifSie-

Question ID : 97675512021

8 S13[F a<i=il aret arer o1 a9+ hifAg-
T SgdgIiReh T 310fad &1

3 et A fohan 8 81

FATHT ST Heh TH-TE 6

T & Iy W= SieT 31aTh gl

Question ID : 97675512031

8 hI9-9T 2Ue& H&a dga< | Uger gidl 87
.

Question ID : 97675512029

8 PI-HT1 A YT FHH T ISTE0T 81 8?7
m

)

b

[ Question ID : 97675512020
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8 IcaHYEY araeh T T TG hfAg-

Question ID : 97675512023

& sh1=-41 arer RreraTfeatees arer 8?2
fopa=t &2t T 81

& S T8 |

st & I A

37 ST Rl &1

Question ID : 97675512030

8 HETeRT "33 T AGSTET" o1 T 37 82
ST g

fr w1

R & g

Fg cafhl

Question ID : 97675512032

8 fean wan are foRe ah1et ot SeTevoT 87
A Al

et

g e ATTeRTd

ehTe

(] ¥depret

Question ID : 97675512028

8 iRtk "STUAT 3@ U T 1 T o1 87
J =T a1 Iy T =181 gt

qtheTaT i, ST a1 a1 thel |

[ B T A1 F &1 Igee gl

g <hT X&TT, TR <l a¥g T JUHTTI

Question ID : 97675512033
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q "SIRIYAT" 2 hT fAAToT HF-T71 8?
[

fa

Question ID : 97675512022

8 S13[F A<=l aTet 2reE 1 T+ FIfAg-

o
T

IYh

Question ID : 97675512025

g "3rare” 1 faeie 21 SiF-91 8?

3

Question ID : 97675512026

on:

{1 T EATYGich STET e UHT oh SeeR SIToTY-

i AFRAT &- aToft 3R v | B T Ta T TR T g fGTd § ok & oI el | Teg
&) mem fhar §1 <reg i afgar srur g1 fava & aifge, s, fasmm ey 99 See-21f<h &
R ER g g gia &, [STept 31mRor 7 811 o & o o=, caagR & o Rigid it i

F e g, IR R 3R Terat 1f<h @Y caagR &1 Tgren el 3 37 gl it spfee ok
oft | FETHT Sft a1 Trguf Sftae S+6t &A1 © gae Tl 3 aroft ofk saagR # o 91 it s 9
" IThT HETAT T B &1 ThdRaT = UT T STUefT Hfa H Iurar &t o, sifes i o
Y gura gar 81 a7 3 S anfeen, i, Sgifae reaTaett T8t @it ofY| & at o i
1 faaTe Sreal & Srder st | o071 3 ST gl ! off I g et off| & TR et
ff | gt & 9 R IBH 1= Sfie & Grefenar 3R Gtherar ured i oY1

No:16
& Iufer Trerier a1 3R 2fides iF-ar 82

%e: Frceerreft wd et i
3R
afe wifeft
AT g
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on:
3T BT SATTYED EZ HY U o Ica GITIT-
i A1fhal 8- aToft SR &H | S AN a9 ¥ TR i 8 @ & 3R & & o U 275

&) mem fhal €1 2reg Y afgar srR g1 fasa & g, o, fasm ey 99 Sree-21f<h &
R BR Tg g gia &, fSTept 1RuT 7 811 o & o o, caagR & o Rigid ft s

F e g, R R ofR Tt 1f<h @Y caagR &1 Tete el 7 37 gl it apfe ok
oft| TgTeAT Sft a1 Ty Sfiae 32t &l & gaa Tl & aroft ofk soaeR # gk o St dhed o
 IchT FETT oh1 X§X & | ThIRaT 05 Th ST Ffct 2hY IUTHHT St off, Riifch pfd et
Y gaTa gaT 81 9T 3 R i, ST, gifae reaTaett Tl dt ofY | & ot e i
1 faaTe Sreal & srder et | oT| 3 St gl et off I O vt oft| & TR Rt
fi| 32t & 97 R IBH 31U+ Sfia & Greferar 3R Gtherdr uTed <t off|

No:17

Tt hl YgrIdr ad 9|

3q & g8t A 9|

33 & gg, o) 7 a1

R cafth wed 9, T8 @ gl

Question ID : 97675512037

on:

T T EATIYGeh ST e U oh SR SITOTY-

i 1Rt §- aroft 8RR | B N ae & TR ol 318 feward & iR $o div o 91 2ea
& T Afhal &1 1eg i AfgHT 3R &1 fava & arfge, e, fagm, ey 99 rsg-21f<h &
R AR g g gia &, [STent 31eRor 71 811 o & AT o=, caagR & fomr Rigia &t i

F A ¢, IR R 3R TTdT 21f<h Y suagR &1 Here mieft = g Gl & spfs ok
oft| FETHT STt a1 Trguf St St &A1 9 gae ATl d aroft iR SgasR # g o | Sl s
 ITh! HETAT <l BT & | ThiRall = TG T TUef Shfc Al Iurdr i off, ifeh pid o
Y gra gaT 81 ‘ST 3 Rt anfeden, ST, Sgifae rsardett Tl Wt ofY | & Tt e i
<1 faIRaTe <Teal hT STUETT AT B ATI d ST gl dhect o I GXT hect ATl of TaHTceh St
ff | gt & 9 WR I8 U= Sfia & Greferar 3R Gtherdr ured i oY1

No:18
¥ e A urg: oo cafts 99R &t g e 21

ShTETHT H |

TRIS <Al FEG et dhl HTaT 91
gfgemar 41

¥ gd aroft g

Question ID : 97675512039
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on:
3T BT TG D SEZI H U o Ica GITIT-
i kAl 8- aToft SR &H | S AN a9+ ¥ TR i W8 @ & 3R & & & U g

&) mem fhal &1 2reg i afgar sr g1 fasa & g, o, fasm ey 99 Sree-21f<h &
R BR g g gia &, fSTept 1RuT 7 811 o & foFT o, caagR & o Rigid ft i

F 8 8, IR R} ofR Tt o1f<h @Y caagR &1 Teten el 7 3 gl it apfee ok
oft| TgTeT Sft a1 Trgu Sfiae 38t &l § gaa Tl & aroft ofk soaeR 7 g o St dhed o
*IThY HETFIAT T 6T & | TheqRalT 3 21eg Y Saer i Y Iure i off, erifes fy ot
Y gaTa BT 81 ST 3 R i, ST, dgifa reaTaett Tl @t ofY | & ot e i
1 faaTe Sreal & srder shHt | AT1 3 St gl et off I T et oft| & TR et
ff| 32t & 97 R IBH 31U+ Sfia & Greferar 3R Gtherdr ured <t off|

No:19
& 19191 21eg, “Trfepdr” 1 yatger=h T8 &2

et

ar
rar

h

Question ID : 97675512040

on:

T T ETIYGeh ST e U oh SR SITOTY-

i 1fRat §- aToft 87 | B TN ae & TR ol 318 feard § ik §e o o 91 2ea
& me Afhal &1 ree i AfgHT sruR &1 fava & arfge, e, fommy, ey 99 rsg-21f<h &
R AR g g gia &, [STent 31meRor 7 811 o & o1 o=, caagR & fomr Rigia &t i

F e g, IR R 3R Terat 1f<h Y cgagR &1 Tete mieht 3 3 gl it spfe ok
oft| FETHT STt a1 Trguf St St alel 9 goe gT1 3 aroft iR SgasR # g o | Sl s
* ITh! HETAT <l TG & | ThiRall = TG T TUefT Shfcl Al Iurdr i off, ifeh pid

f gTa BT 81 ST 3 IRt nfede, ST, gifaeh TeaTdett Tl At ofY | & Tt e i
o1 faIRaTe <Teal hY ST AT H ATI d ST gl hect of I T hect AT | o TaTceh
ff | gt & 9 R IBH U= Sfia & Greferar 3R Gtherdr ured i off|

No: 20

7 “Reurdt” @ o sifvvma 82
ifter 7ee g arer

5T fRemmT AR A 8

F Zg-arer a1 fearrs |

3R gRemM 7 ST 8l

Question ID : 97675512038
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= d

fi

‘following is correct if the above image represents the functions f; and f2?

is one-one, f; is one-one
s onto, f;is one-one
s one-one, {5 1s onto

s onto. f;is onto

Question ID : 97675512049

+ R defined by f{x) = x2- 3x + 2. then f{fix)) =
+6x3-13x2+3x

- 6%+ 10x2-3x

Fex+10x2+ 3x

-6x%7-13x2+3x

Question ID : 97675512046

1 :
forall n € N, then lim U,’™ is-equal to-
Mn—oco

4 Untl

Question ID : 97675512058
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1g: R— R are given by f(x) = cos x, and g(x) = 3x2, then -
: fog

¢ be determined

ind fog both do not exist

: fog

Question ID : 97675512048

ly convergent series is a series which is -

)lutely Convergent
rergent but not absolutely
sonvergent but absolutely convergent

lutely divergent

Question ID : 97675512060

Ris defined as R={(a, b) : a = b2} is .
sitive

ixive

metric

an Equivalence Relation

Question ID : 97675512041

following is incorrect?

y sequence has a monotone subsequence
y sequence has a limit point
y bounded sequence has a convergent subsequence

y sequence has a countable number of terms

Question ID : 97675512054

integer function f: R— R given by f(x) = [x], (where [x] denotes the greatest

One, onto
One, but not onto
1er One-One nor onto

, but not One-One

Question ID : 97675512045



https://t.me/DSSSBTEACHERS1

v operation* on N is defined asa * b=a’+ b3, then—
:ommutative but not associative

yoth associated and commutative

ieither commutative nor associative

1ssociative but not commutative

Question ID : 97675512047

the following tests does not give absolute convergence of a series?

) Test

parison Test

Test
1itz’s test
Question ID : 97675512059
- X x X .
ain of convergence for x- 3 % R Foums waw is
)

Question ID : 97675512055

the following series is divergent?
in 1/.”
1/ =
/n
in1/,2

/ i tan1/,2

Question ID : 97675512057

z it
s, CIpH - is-
»unded

{itionallv Converaent
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3b,’ are convergent series of positive real mumbers then. ¥, /a,, - b,

t be convergent
or may not be convergent
rergent

be convergent

Question ID : 97675512056

A :
ence {X,}, where x,=1+ z + §+ ...... + ——is-

Cauchy sequence
llatory
otonically decreasing

rergent

Question ID : 97675512052

~and p ={(a,a) ,(b,b) ,(c,c), (d,d),(a,b),(b,a),(b,c),(c,b)}, then p is-

ixive and symmetric
valence
metric and transitive

ixive and transitive

Question ID : 97675512042

en by f(x) = 4x + 3, then inverse of f is

R

Question ID : 97675512050

re defined as f(x) = 8x. Choose the correct answer:

either one-one nor onto

ne-one onto
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ice {a?,} converges to a2, then the sequence {a,} converges to-

)t convergent

L

Question ID

1 97675512051

d g:B—C are one-one, then gof : A— C is-
one
1er One-One, nor onto

one and onto both

Question ID

1 97675512044

the following is true?

{(BUC)=(AXB)N (A% C)
«(BNC)=(AxB)U(AXC)
-B)x C=(AxC)~(BXC)
(B-C)=(Ax C)—(AxB)

Question ID

1 97675512080

following is not true?

7) = u +i.vis an analytic function, then u and v are both harmonic functions
unction does not satisfy Cauchy — Riemann equations, then it is not analytic
ind v are both harmonic functions then f (z) = u +i.v is analytic

7) = u +i.v is an analytic function, then u (x, y) = c; and v (x,y) = ¢, are

Question ID

1 97675512069
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x*- 3xy? of an analytic function f{z) = u+i.v, then -

‘monic conjugate and v(x.y)=3x’y - v+ ¢, c is any constant

‘monic conjugate and v(x,y) = 3x’y - y*+ ¢, ¢ is real constant

rmonic conjugate and v(x, y) = y*- 3x%y +c, c isreal constant

rmonic conjugate and v(xy) =y*- 3x%y + ¢, c is any constant

Question ID : 97675512067

, then how many elements are there in P(A)?

lement

Question ID : 97675512074

i-empty sets A, B, C are havingrelaton ANB=A N CandAUB =A

Question ID : 97675512075

nplete metric space then no non-empty open sub-set of X is of first category.
m states this?

shy’s Theorem
ano- Weierstrass Theorem
Baire category Theorem

mediate Value Theorem

Question ID : 97675512071



https://t.me/DSSSBTEACHERS1

1
= ;,z;ﬁ 0, then

isfles Cauchy — Riemann equation, but not analytic forall z # 0
ontinuous only but nowhere differentiable
1s not satisfy Cauchy — Riemann equation forall z # 0

nalytic forallz# 0

Question ID : 97675512065

nber and f = 1" (cos n@ + i.sin n@), then

nalytic everywhere except possibly atr =0
nalytic nowhere
nalytic everywhere except possibly at 6 = 0

nalytic everywhere

Question ID : 97675512061

re two non-empty sets such that n(X)=17.n(Y)=23 and n(X U Y) =38,
Y)is -

Question ID : 97675512078

w @ .

s of convergence of the power series 277, ot is
11

Question ID : 97675512066

2 22

of the ntegral J’Z dz. where c isa circle Iz = 2 is -

z2+1
C

.sin2
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following represents De Morgan's Law?

NB=A’UB’
"UB)=ANB’
UB)=A'NB

UBy=ANB

Question ID : 97675512073

400 players, 250 play football and 200 play cricket, then how many people play
es?

Question ID : 97675512079

2, y) +i.v (X,v) be analytic everywhere and u- v = (x - y).(x2 + 4xy + v2),

)= -iz®+ ¢, ¢ is arbitrary constant

7) =1.z° + ¢, where ¢ is arbitrary constant
=z (1 +1i) + c. ¢ is arbitrary constant
=z (1-1z)+ c,c is arbitrary constant

Question ID : 97675512064

O] N[A N (B nC)is equal to -

liversal set
(I{B” F1 7]
1 set
JBUO

Question ID : 97675512072
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2
of the intcgralf%dz: where c is a circle |z| = 2 is-
[
c

S 1

o N

Question ID : 97675512070

z|2, then

ifferentiable only at zero
lifferentiable everywhere except 0
lifferentiable everywhere

ifferentiable nowhere

Question ID : 97675512063

CxXeEZ}

1 Ey

2:x€Z} then -

Zy, Zyform a partitionof Z
NZ,NZ=Z

. Z> , Za form a group under multiplication
. Z; . Z; form a partitionof R

Question ID : 97675512076

.3,4,5,6,7,8,9}
1,}
3}, then (AUB) is—

5,8}

370}
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. S
ey ifRe(z) # 0

] , ifRe(z)=0

then —

2

ot continuous nowhere
ot continuous at 0
ot continuous only at 0

ot continuous everywhere

Question ID : 97675512062

y + n=0 be the normal to the circle x2+ y2+ a? then —

Question ID : 97675512083

the point (-3, 8, 4) in the plane 6x - 3y -2z +1 =0, is -
-2)
9)
0)
.3)

Question ID : 97675512097

quation of the cone which passes through the co-ordinate axes is-

V2+Y222+ Hxl=0
y+iyz+gzm=0
tyz-zx=0

2+ b2+ cz2+ 2hxy + 2fyz + 2gzx = 0

Question ID : 97675512092
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f revolution of the straight line z2 = y, x = 0 about the y axis is-
+z2=x

=X2+ ZZ

Question ID : 97675512093

nals at the point (ct; . ti) on the hyperbolaxy = ¢! meets it
le point (cty . ti) then-

he=-1
fiea]
h=-1
tp=-1

Question ID : 97675512085

1e sphere that passes through the points (0, 0, 0), (a, 0, 0), (0, b, 0), (0, 0, ¢) is -

a)2+ (y-b)2+ (z¢P== (@ + B2 +¢2)

%y by G 1o g oy
2]+h’ 2)+{1 2] 2{ﬂ+b*-‘-€2}
+ty*+22=a’+b?+

_g)z_l_ y ‘S]Z"' (z _g:lz :i (a2+b2+c?)

Question ID : 97675512100

lonax2+by2+cz? + 2ux + 2vy + 2wz + d = 0, represents a cone

+bvi+cewl=d

u+acv+abw=d

te).ul+ (atc).v2+ (ath).wi=d
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limension, theequationx?=2.1.v, A # 0 represents—
liptic cylinder

inder

yerbolic cylinder

-abolic cylinder

Question ID : 97675512096

e diameters of the hyperbola are such that -

meet the curve at real point
meet the curve at imaginary points
‘meet the curve at infinity

meets the curve at real point and another meets at imaginary point

Question ID : 97675512090

:s through a point (1, -2, 1) and is perpendicular of two planes 2x -2y +z =0
: = 4. The distance of the plane from the point (1, 2, 2) is -

2

Question ID : 97675512099

ordinate of a centre of the circle r = 4.cos 6 + 3.sin 0 is-

tan-! g)
tan-! E)
T

4
tan-! g)

Question ID : 97675512088
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ween the lines represented by x2 - 2xy - y2 + 2x + 3y - 1= 0, is -

1 (1/4)
11(1/2)
Question ID : 97675512081
rents fo the ellipse :—: + :—: = 1 makes intercepts of lengths h
he axis. then —
+o=1
By
B
+=1

Question ID : 97675512086

«cal chord of a parabola and d be the distance from vertex, then-

Question ID : 97675512087
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1
:ity and semi — latus rectum of the curve — = 8 + 5.cos 0, are respectively —
T

m| =

M|

Question ID : 97675512089

d S, =0 are the equations of a sphere, then §;+ 4.5,=0 represents—
1ere passing through the circle of intersection of the spheres

1ere passing through the plane of intersection

ne

cle

Question ID : 97675512098

xy — ax — by + ab = 0 represents -

r of straight lines
yerbola
cle

lipse

Question ID : 97675512082

of the plane through the point (1, 2, -3) and normal to the straight line joining
,3,4)and (5,2, -1) is-

y-5z-9=0
1-5z2-19=0
/+5z2+19=0

1-3z-17=0

Question ID : 97675512091

20la or ellipse how many normals can be drawn?
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-2 -1 +1
t distanice between the z— axis andtheﬁ.nexT= yT= zTis—

5

Question ID : 97675512094

}

oc+cotoc=2 +vr§, then value of cos o< is-

Question ID : 97675512102

e a necessary and sufficient condition for the curve v = constant to be a
‘he general surface?

—FE+2EF=0
!+FE 1—2 EFl =0
+FE+2EF,=0

—FE;-2EF1=0

Question ID : 97675512118
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f surface ds is given by-
-H2/ du? + dv2
-Hvdu? + dv?
=H.dudv

=H2dudv

Question ID : 97675512117

B + Cosf and Y = Cot6 - Cos6, then find the value of

X -y?
VXY

Question ID : 97675512107

2 2

)+cns‘1(z}=o; then pﬂ +kcosa, +q—2=~‘i‘irll @ where k is equal
b a“ 2]

q

b
g

b

Question ID : 97675512101

> 0f /3 sinl0° is equal to —

i0° - cos70°
i0° + cos70°
1° + sin40°

1° + sin50°
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ot (?%)u is —
V3+/5+ 6
4+/3+/5+/6
V2+/3+ /6

23+ 6

Question ID : 97675512109

Question ID : 97675512108

e xyz = 4, what shall be the equation of the tangent plane at the point (1, 2, 2)?
r-z+1=0

y+z=2

y+z=6

y+z-1=0

Question ID : 97675512112

5 (A-30), where 3A and (A-30) are acute angles, find the value of (sin 2A + cos
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symptotic lines is given by-

du?— 2M dudv + Ndvi= 0

ul— Ndvi=0
dudv = 0

u!+ 2M dudv + Ndvi= 0

Question ID : 97675512119

'be a helix which of the following should be the most necessary and sufficient

-atio of the curvature and the torsion is constant
torsion is constant
oroduct of the curvature and the torsion constant

curvature is constant

Question ID : 97675512116

the appropriate matrix of the coefficient of Frenet—Serret formula?

k0

= 0 T
—1 0
—k 0]
0, —1
T 0
T 0]

[ B
-k 0
e R
0 -k
k 0]

Question ID : 97675512114

i surface, x = ucosy, y = usiny, z = cv. The first fundamental coefficients are
0, u + 2
sv, sinv, u?+ 1

0,vVu?+4c?

! R R B
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cot® 2A+3cot?Acosec? 24

cosec?2A(cos® A—sin® A)

value of

Question ID : 97675512106

the first quadrant and 24/3sinAcosA = cos?A - sin?A, then the value
(A/2)sin(A/2) is:

Question ID : 97675512104

(point on a surface, then P will be a singularity of the surface if —
XTI+ 0

=15

=1,=0

XI}:U

Question ID : 97675512111

secBA (tanl0A+tansA)
4(tani0A—-tanbA)

alue of:

Question ID : 97675512103



https://t.me/DSSSBTEACHERS1

yoloid of revolution z = x2 + v2, the asymptotic lines is given by -
ju? + vidv2= 0

2+ p¥dvi=0

o dv2=0

2+ dvi=10

Question ID : 97675512120

alation between radius of spherical-curvature R and the radius of curvature p
» and o (the reciprocal of the torsion).

=0%+(p'p)?
-p"+(po)?
-l p_:LZ
“0MH)

:p*+(p'0)?

Question ID : 97675512115

sum of coefficient of the expansion( 1+ x — 3x2 j‘*ﬁi'

Question ID : 97675512136

;binomial theorem (2°"— 7n—1 ) is divisible by which of the following numbers?

[ Question ID : 97675512131
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"of a continuous time signal x(t)= e*t, A=0is

2A
+w?)

]
‘-r'l

&

+w?)

-

Question ID : 97675512126

n—1

ntinuous function. then lim %f E) can be expressed as -
n—oo r=0

f(x) dx

xf(x) dx

L
st( Vs |ax

L

f{ 1fx |dx

Question ID : 97675512140

ing integrator given by y(t ) = fom x(Ddt:

uces an abounded output for every causal bounded input
uces a bounded output for every anticausal bounded input
no finite zeros in its double-sided Laplace transform Y(s).

no finite singularities in its double sided Laplace transform Y(s)

Question ID : 97675512122
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B isgivenbyxt)=4_9 <™

ong the following gives the fundamental Fourier terms of x(t)?

. Mt n
.‘111(;—;}

Question ID : 97675512127

following is true?

y integrable function is monotone increasing
y integrable function is continuous
y monotone function is integrable

y discontinuous function is integrable

Question ID : 97675512139

remainder when 2232 is divided by 2107

Question ID : 97675512135

ast coefficient of (x + 1 )?01is:
)

nt
DE
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he number (6 + 4+/3)
[2+1)2

P (/3-1)

J3+1)2

L(V3+1)2

Question ID : 97675512129

1l valued function of a real variable with period T. Its trigonometric
les expansion contains no terms of frequency w=2n (%), k=12,
) terms are present. Then vy (t) satisfies the equation:

}=ylt-T) = y{t-T/2)
)=y(T-1)=-yt-T/2)
) =yt +T) = y({t + T/2)
) =ylt - T)==y(t—T/2)

Question ID : 97675512121

n F
= 2. then the value cfz nc_r_a_rb“_r
r=0

Question ID : 97675512138

? B
nt of x2 of this expansion (21-:3 — —)

4
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n
e term in the expansion ﬂf(xz + % + 2) is:

!

)2

E_

)

5.(2n+1) on
n!

Question ID : 97675512132

following is true?

100 5 10000
i00000000

1
1and 2
1er 1 nor 2

2

Question ID : 97675512128

1der when 7575 is dividied by 37+

Question ID : 97675512134

uous time system described by the equation y(t)=x(t*) comes under
yvof—

causal, linear and time-variant
sal, non-linear and time-varying
;al, linear and time-varying

causal, non-linear and time-variant



https://t.me/DSSSBTEACHERS1

ier series for the function f(x) = sin?(x) is:
-0.5sin 2x

0.5 cos 2x

0.5 sin 2x

-0.5 cos 2x

Question ID : 97675512123

=500, then the value of x* 1s-

Question ID : 97675512130

characterized by the differential equation dz:gt) - % —2y(t) =x(t) is-

linear and stable
ar and unstable
linear and unstable

ar and stable

Question ID : 97675512125

» of statement P(n): 1.6 + 2.9 + 3.12 +....... +n(3n + 3)
-1)(n+2)

N+2)(n+3)

-6)

3)(n+6)

Question ID : 97675512155
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ical ascending method the value of 1+2+3+........+nis _______
1) (n+2)
2
n+1)
2_
1+1)
3

-1) (n+2)
3

Question ID : 97675512149

ralue of n, the statement P(n) :n! < (% . is true? Wherenis a
'hole number.

Question ID : 97675512151

following improper integral is convergent?
1
logx

1
D X

Vx
logx

1-cosx

Question ID : 97675512146

m of the statement is (1+2) (1+2) (1+3) ... (1+2) is-

_1"

}.
©
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Question ID : 97675512142

ment ( X* —y®) is divisibleby -
+y)
=+

¥)
+y) (%-¥)

Question ID : 97675512153

f the following is true?

]— R be defined by

1 1
DR, when —<x=<-, r s Slamul

0, whenx=10

ot integrable in [0, 1]
1tegrable on [0, 1], but f in bounded
1tegrable on [0, 1], but f in unbounded

1tegrable on [0, 1]

Question ID : 97675512145
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ient is true?

{;(ﬂ_ﬂ“
2

- (n+1 o
2

=3

> ()

Question ID : 97675512157

IZX“ sinx dx,n>1, then I, +n(n-1)I _;is equal to :

"
21
-
)

Question ID : 97675512147

.21+ 3.3+ n.n! = (n + 1)! - 1, then P(n) statement is true -

1>1
1>4
Il negative values of n

ill values of n

Question ID : 97675512152

m*xdx, (n>1).Li+Is=atan’x +bx’+ c. wherec is a constant of
1. then the order pair(a, b)is equal to-

1)
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the inequality is true?

‘f.l_[{} efdx<1
; 1

21y ex dx <>

<1, efdx <1

<1, efdx<e

Question ID : 97675512141

following improper integral is convergent?

2

b
x—de

a

1
de

2

1
;dX

«3/2

>f the differential equation (2D+1)2y = 0 is -

= (A + B) e™?

(A + Bx) e*?
(A + Bx)e*®

Aex2

Question ID : 97675512143

Question ID : 97675512160

d

2
ion of the differential t:quatiunxz%— 3:{; + 4y =0is:

(ci+e logx)x
(c;+c; logx)ex

A
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'ment (52— 1) is always divisibleby-

Question ID : 97675512154

ent1.2+2.2243.22+ ... n.22canbe written in the form of —
1)22+2

-1)22+2

1)2z +2

o P )

Question ID : 97675512156

2742 is divisible by

Question ID : 97675512150

ix|. then for any real numbers a and b with a <b .the value
dx equals -

a®-b?)
¥+ b?)
|bl*-]al?)

[b®-a%])

Question ID : 97675512148
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'f onto homomorphism from Zg to Z, is-

Question ID : 97675512177

a solution of the differential equation x* y" +xy' - v =0, then
| linearly independent solution of the above equation is —

Question ID : 97675512168

it - a), then the differential equation satisfying the relation is -

L4
f— _m2x

Question ID : 97675512166

: 20-1p, =3 : 5, thenwhatis the value of n?

Question ID : 97675512178
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agroup of a group G and K be a normal subgroup of a group G, then -

1 normal subgroup of HK N KH
1 normal subgroup of HK
1 normal subgroup of KH

10t a normal subgroup of HK

Question ID : 97675512170

(G',*) be two groups and f: G — G' be a homomorphism, then f (G)

syclic subgroup of G' is commutative
syclic subgroup of G’ if G may not be cyclic
syclic subgroup of G’

t a cyclic subgroup of G'if G is cyclic

Question ID : 97675512171

roup suchthata’=c foralla € G, thenGis:

- abelian group

ian Group
Question ID : 97675512175
W 3x +ey siny 3x)+cie?® is theganeralscﬁuﬁpnﬂff-
; +4y= 0
7 54y  dy =
efaE ™ A=
g dx _
X

Question ID : 97675512161

(G', *) be two finite groups and ®: G — G' be an epimorphism then -

is not a divisor of O(G’)
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,2,3,4,5 and 6 how many nhumbers between 3000 and 4000 can be made if
d be repeated?

Question ID : 97675512180

re group G is simple if and only if -
=n, nis a positive integer

=n, nis an even integer

=n, nisan odd integer

=n, nis aprime integer

Question ID : 97675512176

:ular integral of (D?+a)y=sinax (D= i)is—

X
— CO5 aXx
'a

COS5 ax

a
=t COSs ax

COS aX

Question ID : 97675512162

(G',*) be two groups and ®: G — G' be a epimorphism. Then ® is an
if and only if-

b C {eG}
b C {eG}
b={eG}
b ={eG}

Question ID : 97675512173
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following is not true?

G be a group in which (ab)® = a® b? forall a,b € G, then
= {x% x € G} is normal subgroup of G

nutative subgroup of a group is normal subgroup of the group
[is normal subgroup of a finite group G, then [G:H] =2.

G is non — commutative group of order 2p, p is prime and
re exists at least one element a of order p, then <a> is normal in G.

Question ID : 97675512169

rindependent solutions of the differential equation "::xi: + 4:—:" +5y=0

2 ®/2_:

cos X and e® “sin x

2cos x and e~ Zsin x

/2 cos x and e/? sin x

“/Zc0s x and e~ %2 sinx

Question ID : 97675512167

] ; ] . dy d -
rsoh:tmnofdﬂcrmﬂ:talcm]atmnﬁ—i—2y=cosx+3mﬂx13-

Question ID : 97675512164

ous mapping of compact metric space X into a metric space Y then:

niformly continuous
ot continuous
jajumpatx=60

step function

Question ID : 97675512174
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= 1°P,, thenris -

Question ID : 97675512179

1 solution of the differential cquahcm + 2 +y =e*cos X is-

X

+ ¢y X)e™ —I—i(dsinx—l—S cos X )
e .

.+ ez X)e™ +:(4 sinx+3cosx)
et 5

+ ¢y x)e* +?(4 Sin X - 3 cos X)

+ ¢, x + sinXx)e™

Question ID : 97675512165

on of the differential equation =3 dx= E-3 dy—F 2y = &= is-

1
=c131+c2e-2"+5e3‘

13
:G1B'x+ﬂzezx+53' =
= -Ix - -3x
=gie*tope +£E

1
=€ eX+ DEEIK'FEEBX

Question ID : 97675512163
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mit vector whichis paralleled to the addition
tors /=31 -2j and T, =41 + 4]
i)
S(i7+21)
SET )

(i*-2")

Question ID : 97675512191

up of 11 cricketers. 4 can bat and 7 can bowl. In how many ways can a group
s be selected if the group has at least one batsman and bowler?

Question ID : 97675512185

(X'+3d)=8andd isa unitvector,then X will have value of:

Question ID : 97675512195

f(x) = x Sin (1/x), if x = 0 and f(0) = 1 has discontinuity at

Question ID : 97675512186

Jjns can be repeated, then in how many ways a line can be made from six ‘+'
r'-’ signs?



https://t.me/DSSSBTEACHERS1

and (-v3, ¥3) are vectors of:

celes triangle
ateral triangle
near points

t angle triangle

Question ID : 97675512193

i6 and *C, = 56, then what is the value of n andr?

,r=2
,r=3
4,r=4
,r=8
Question ID : 97675512184
F Matrix § = [(20“ Zﬂb): a,b € Z} contains-

ors of zero without unity
ors of zero with unity
ivisors of zero with unity

ivisors of zero without unity

Question ID : 97675512200

L Em= == = =

-zero vector of magnitude 'a' and 4 s
» scalar, then Ad is unit vector if —

ol
141

A

Question ID : 97675512196

2 then what is the value of m?
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25Cy;+1, then what is the value of 1C5?

Question ID : 97675512183

vals in which the function f given by strictly increasing f(x) = 2xx? - 3x:

e |

8

o= | w

Question ID : 97675512197

3 A (<217 +375K0), B (T +2) 43k, C(7i°-k) are-
near

1ed a equilateral triangle

1ed a Right angle triangle

Collinear

Question ID : 97675512194

tors pi” +2j” and 3i" - 3j are aligned. then what is the value of p?

Question ID : 97675512190

of the distinct permutation of letters in JUXTAPOSED do the four vowels come

160

100
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1-vectors of point A, B, Cand Dare 31" -7, 2i"+ 2§, -2i"- 3], 41"+ 3{",

such that AB || CD, then what is the ratio of their modulus?

Question ID : 97675512189

ser of diagonals of a polygon whose number of sides is "n".
)(n-5)/3

3)/2

1)/2

)(n-2)/3

Question ID : 97675512187

* I +,.) forms aring of module 2 such that (a. b) + (c. d)
+ d)and {(a. b) {c. d)=(a.c. b.d) for (a, b),. {(c. d) € #; = Z; then-

1 commutative ring with unity and it contains divisor of zero
3 commutative ring with unity and it contains no divisor of zero
3 commutative ring without unity and it contains no divisor of zero

1 non commutative ring with unity and it contains divisor of zero

Question ID : 97675512198 ]

sition-vectors of A and B are 81" +3j and 2i” -5,
tmine the direction of AB vector-

1 (-3/5)

1(3/5)

(-5/3)

(5/3)

Question ID : 97675512192 ]

; a commutative ring with unity, then the polynomial ring R |x| is-

1 commutative ring without unity

mmutative ring with unity
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x+1

l}—;Rdefmedbyf(x]=m,VxER— {—2 }is an example of —

ynal Function
um Function
ulus Function

1romial Function

Question ID : 97675512202

the following is TRUE?

sequence {n cos '/n} has a convergent sequence
y sequence that has a convergent subsequence is a Cauchy sequence
sequence {sin n} has a convergent subsequence

y sequence that has a convergent sequence is a bounded sequence

Question ID : 97675512210

the following ring of matrix is not a field?

ilb IZ): a, b ER]

J;J D: a,beﬂ]
;J 2): a,bER]

;b IZ): a, b EQ]

Question ID : 97675512207

: a convergent series of positive terms and let XV,
rent series of positive terms. Then

s sequence |V, } diverges to =
h the sequences {U,} and {V, } are convergent
s sequence { U, } is convergent and the sequence {V} is divergent

:sequence { U, } convergesto 0

Question ID : 97675512209
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40 -—-29 -11

le matrix A = (—13 30 —12) has a certain eigen value
26 24 5o

ch ofthe following must be eigen value of A7

0
0

A
-A

Question ID : 97675512218

-al f: Sinx dx—

'sandisequalto0
s and is equal to 1
s and is equal to -1

; not exist

Question ID : 97675512220

_qym
i L'ii + %] is -

latory

gent

ided

ergent

Question ID : 97675512212

e a sequence of real number such that lim,,_,, U, exists, then
lpseo Uz does not exist butlim,,_, U, .4 eXists
hlim,_,U,, and lim,_, U, do not exist

lposeo Upp exists butlim,,_, , U,,,; does not exist
‘hlim,_,,U,, and lim,_ U, ,,exist

Question ID : 97675512213
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) be the set of all 2x2 matrices, then (M:(R), +. ) is -
mmutative ring without zero divisors

1 commutative ring with zero divisors

mmutative ring with zero divisors

1 commutative ring without zero divisors

Question ID : 97675512205

* Isinad

sinx

ral f dx
0 x

t convergent

solutely convergent

rergent

nvergent but not absolutely

Question ID : 97675512219

units in a ring R with unity forms

tegral domain
d
3 with unity

yup with respect to multiplication

Question ID : 97675512201

Y2 —1#0, then the sequence {U,}

or may not be bounded
t bounded
nvergent

unded

Question ID : 97675512214

sidue classes (mod m) is an integral domain if mis:

e
:ural number
teger

jonal number
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ce [P + %] is-
n

latory

gent

»unded

ided

Question ID : 97675512208

nce {2 +(-1)=} has-

tly one constant subsequence
tly two constant subsequence
dnstant subsequence

tly three constant subsequence

Question ID : 97675512211

+,.) is an integral domain if and only if:

yositive integer

Question ID : 97675512204

»dd prime
»dd
ime
1
3 4 n+1 ‘fﬂm abta
2 3 n |

Question ID : 97675512215
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following ring is an integral domain?

Z,+,.)
)
+.)
ko)

Question ID : 97675512203

-zero n x n real matrix with n = 2. Which of the following statements is true?
(M)=0=rank (M}=0
k(Mj=n=det(M)=1
k(M)=1=det(M)£0
(M)=1=rank (M) =0

Question ID : 97675512217

fethodology

following subject/s Mathematics is a part of?
Jraphy

yraphy, Economics and Commerce

lomics

merce

Question ID : 97675512226

. “Mathematics is the language in which God has written the universe”?

shal Stone
bhatta
go Galilei

-and Russell

Question ID : 97675512221

the following is not a problem-solving strategy in mathematics?

learning
ing
and error

ng backwards
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the following statements is correct?

of two prime numbers is always a prime number
e is no even prime numbers
he smallest prime number

mposite number cannot be odd

Question ID : 97675512235

llowing invented the letter system?

- Bhatta- |
argupta
imagupta

anta

Question ID : 97675512228

hematics was coined by-

ayoreans
amasciour
abactus

anorean

Question ID : 97675512227

earning is an alternative to

petitive models
‘hing models
oteaching

on plan

Question ID : 97675512233

bjectives have been divided into -

domains
domains
e domains

domains

Question ID : 97675512231
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rue about lesson plan?

ves from haphazard teaching
Jeveloped by students
|ps in orderly delivery to content

velops confidence in teacher

Question ID : 97675512224

following is not related to early number concept?

surement
sification
ervation

s inclusion

Question ID : 97675512230

the following is not a mathematical process?

\orization
nation
surement

alization

Question ID : 97675512237

is underlying team teaching is

igle teacher cannot control the class
oest teachers in schools are shared by more‘students:
‘hers are not competent

hers feel bore while marking alone

Question ID : 97675512232

ibiting difficulty in sorting, recognising pattern, orienting numbers and shape,
1d measurement may have dyscalculia with difficulty in

al motor coordination
Juage processing
al motor skills

al memory

Question ID : 97675512236
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Piaget when the child is at formal operational stage, it is appropriate to

netry
handling
bers

y and proportion

Question ID : 97675512238

'matics teacher is one who -

urages convergent thinking
iins helpful, insightful and explain things well
s only a lot of problems to practice with

ws the same method always

Question ID : 97675512222

tics classroom emphasis is placed on

1ematical content process and reasoning
lematical content
1ematical algorithm and process

lem solving strategies

Question ID : 97675512239

f students in cooperative learning groups ‘are

-0 Fifteen
ftoten
e to four

to Six

Question ID : 97675512234

following is/ are not the principle of Curriculum-construction of mathematics?

jrity of theory with practice
siple of unit
1ld not be child-centric

arinciple of preparation for life

Question ID : 97675512225
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following is /are true regarding the aims of teaching mathematics?
a good ability to solve problem

the ability to make decision

a good understanding of numbers and number system

1and3
ind 3
1and 2

2and 3

Question ID : 97675512223

1structional objectives are best described in terms of the terminal behaviour
n the learners”?

it Samele
irt Miller's
rrt Wadra

rrt Mager

Question ID : 97675512229
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